PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
1st August 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

The first port to be developed in Gujarat after independence is / LEGEGID dTc oIRTd A faefya foear
Ugl §&E 3

e Kandla / disdl

® Kutcch / P

® Marmagoa / AT

® Paradeep / URTGIY
Correct Answer :-Kandla / ®isdl
2)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms.
Choose the third term from the following options which has a similar kind of relation with

the fourth term. / 9 Uy &, Ugd 3 Weal & o9 P PR &1 Hay 8] Ay fAeet & § vgar ug gHa
RRT®T gO¥ Ug & A1y S THR BT HAY

BLOCKED : YOLXPVW : : ? : OZFMXS
e RESULT
e LAUNCH
e DEBATE
e LABOUR

Correct Answer :-LAUNCH

3)
Question Stimulus :-

IRDA in India regulates / MR § SMTE3ARSIT 3! g sear g

® Banking business / d& ST



® Insurance business / ST ATATT
® Capital business / q\\_rﬁTlT‘f ogqqdrg
® Public issue of shares / JRIRI BT & Hal

Correct Answer :-Insurance business / STHT SIGHTI

4)
Question Stimulus :-

Aditya ranks 7t from the end and 6 from the top in a class of students. Find out the total

number of students in the class / T® $&T P B A ey &1 sifaw J 74 2ot w53 sRSW A B
Ao | & W B D FoI T JTd DL

* 10

e 11

° 12

° 14
Correct Answer :-12
5)

Question Stimulus :-

Find the word that represents the category of the following three words. / dg RMeq JTd FIford
it fr i wregl @t goft ot gfaT @

Wheat, Barley, Rice / ﬁf, \‘rﬁ, ardd
® Food /WAl
® Gram /T
® Cereal / 3f-TST

® Agriculture / q?&f

Correct Answer :-Cereal / 3ATS1

6)

Question Stimulus :-



What is the main attraction of the Archaeological Museum of Sanchi? / |idl & RTdd AIGTd BT & STHYOT
&1 8?2

® Mauryan period artifacts / Y Brel B Wﬁﬂﬂ
® Birla Museum, Bhopal /ﬁ?;?ﬁ JdUeTad, Hrare
® Sculptures, terracotta and paintings / Eﬁ'ﬂ'i, RTbieT IR

® The lion capital of Ashokan pillar of the Mauryan Period /tﬁﬂmaﬂ ﬁ-IFTITrT%IFﬁ BT AMP TH
Correct Answer :-The lion capital of Ashokan pillar of the Mauryan Period /ﬁﬂmaﬁﬁ?wuﬁ Ca)
M WY
7)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁrq
St feT T Sy wd fApef & 9R d 9 @

Statements:/ ®Y:
All lambs are hares. / I ‘ﬂ"s,’% G RGN %'I
Some bicycles are not lambs. / $ ABfed Ns & = LI 8
Conclusions: / frep:
I. All bicycles are hares. / I Iigfea @mw g1
II. Some bicycles are hares. / $9 ﬂﬁﬁﬁr MR %'I

® Only conclusion | follows / *ad frsed 1 fApaar %

® Only conclusion Il foIIows/WﬁWﬂf ] ﬁﬁ?ﬂ %

® Both conclusionl and Il foIIows/?.‘ﬂ*ﬁ ﬁlﬁﬂf I Gﬁ? I1 ﬁlﬂﬁ %

® None of the conclusion | or Il foIIows/ﬁWGf 197 II# ﬁ ﬂﬁ'sc T-Iﬁ Freadr %
Correct Answer :-None of the conclusion | or Il follows / ﬁwmf I97 II# ﬁ ﬁé T'Iﬁ Frodar %
8)
Question Stimulus :-

The largest density of tigers in India is found in the ./ YTRd ® 9791 9t 999 TSI U arelt AUIRTY -
gl

e Kahna National Park / Il Tl'g'q 3T



Bandhvagarh Sanctuary / SIHAG S HIARTY
Van Vihar Park / a1 fagR urds

Panna Sanctuary / YT IHARTY

Correct Answer :-Bandhvagarh Sanctuary / STHd¢ AHIRTY

9)

Question Stimulus :-

Select the statement that is the negation of the statement "All swans are stately.” /

39 $YF B g4 S 39 HYF BT ufarg @ gt g9 ST §1”

Some swans aren't stately. / $© 89 ISPV T3t B
No swans are stately. /Hﬁiiﬁgﬁmqﬁl
Some swans are stately./ WWW%I

None of the above / SWRIGd ®IS a1

Correct Answer :-Some swans aren't stately. / $© g9 WT&P{%I

10)

Question Stimulus :-

In the following diagram. / 4 nefa &

Circle S stands for households having a scooter;/ a1 S 39 URaRI &1 gxifar 8, e U
PR &

Circle T stands for households having a TV set; / 3 T 37 URaRI @I g=ifar 8, e
ddt 21

Circle W stands for households having a washing machine; / 9 W 37 URaRI &1 =1iar &,
o U arfRir 7= 1

Circle C stands for households having a car. / 3 C 3 URaRI &I giar g, o T R 21

Note: The different numbers indicates the non-over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / 19 ¢: 3eNT-3eNT YW 3faaardt &=\ &1
gfrd &6t 81 Sereu & forg, s 89 1,11,12,8,9,10 3R 6 & HY &) gxIfdr g1



Households having all the four items are represented by the region.
® 91 & IR) a5l & g BT g 2
° 7
8
9
e 12
Correct Answer :-8
11)

Question Stimulus :-

Name the illustrious son of Padma Bhushan awardee Hafiz Ali Khan. / UST 3H0T QR¥PTY | qwTfa gifth e
3l WM & YR 93 &1 A9 qard|

® Amjad Ali Khan / 3fHvIg 3rell @+
® Hari Prasad Chaurasia / Eﬁ TG IRfar
e Shiv Kumar Sharma / %@ PHR =t
e Zakir Hussain / TR @?
Correct Answer :-Amjad Ali Khan / 3[H¢ 3¢l @9

12)
Question Stimulus :-

Sunderban tiger reserve is in which State? Yo ITd AHIRTY fra g o 32



® West Bengal / uf3w s
® Assam / 3HH

o sikkim / Rifeea

® Jharkhand / YIREUS

Correct Answer :-West Bengal / Uf3W s7a

13)
Question Stimulus :-

Which of these languages is not represented on the language panel of Indian banknotes? / YR 9% & el &

UYTYT T R S8 | DI T YT St g=ITaT =16 T 82
® Bhojpuri / HISTQE:
* Bengali / STl
® Urdu/Sg
® Tamil / i@
Correct Answer :-Bhojpuri / HISTq3}
14)

Question Stimulus :-

Who was the first Chief Justice of India? / HTRd & WYH GBI ATATH S A2
e S.H. Kapadia / TH.Qd. HUIfSAT
* K.G. Balakrishnan / & Sft CLSIEAE]
® Hari Lal J. Kania/ Eﬁ?ﬂ?{ S Srfrn
® M.P. Shastri / Q'qf-ﬂ URAL
Correct Answer :-Hari Lal J. Kania / §RaTd & S1feram
15)
Question Stimulus :-

Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E UTT 91 &t AT e % -

1. A, B and C are in Indore and Bhopal. / A, B 3)¥ C $&R Td Hiuted A 2|



2. A, B and E are in Indore and Gwalior / A, B 3 E &R U4 1qifersR # g1
3. B, C and D are in Raipur and Bhopal. / B, C 3R D Wﬂ“\’t{'cr vurd ﬁ?l
4. A, E and D are in Gwalior and Jabalpur / A, E 3R D TqIferaR Ud SeaqR § 21
5. C,E and D are in Raipur and Jabalpur / C,E 3R D I0QR T WeaQR # &1
In which city there is NOT any branch of B? / f&q 2gv # B &1 ®15 Y zmar =181 82
® Jabalpur /SIddqR
e Gwalior / WaIfeRR
e Indore /'5‘7:?!'\'
e Bhopal Jvard
Correct Answer :-Jabalpur / S[dcq?
16)
Question Stimulus :-

The Kohira dam is located in the / H)T%QT Y WT @ %
® Kaimur District / %q:\r foremm
® Shivpuri/ ﬁﬁgﬂ
e Rewa/dar
® Dhar /YR

Correct Answer :-Kaimur District / $HX forar

17)
Question Stimulus :-

Who renounced his knighthood after the Jallianwala Bagh massacre? / Sferaiarar a1 RER & aT6 fhaq
T AT Iurfy o § 4

® Rabindranath Tagore / MWy R
* Jinnah / {518

e C.V.Raman/ H.d. 3949

® S.P. Sinha/ GH.4.R=gT



Correct Answer :-Rabindranath Tagore / Q&Y MR

18)
Question Stimulus :-

Panch tantra was written by / U sq% GIRT foraT T or:
® Vishnu Sharma / ﬁmj‘mﬁ
e Kalidasa / m
® Tulsi Das / OGN
® Ranna /AT

Correct Answer :-Vishnu Sharma / ﬁ'&'[[ i

19)
Question Stimulus :-

Which among the following is a relatively new district of Madhya Pradesh? / H] u%ﬂﬁ &'&&I’I@_d 47 fore

Foaffea d S s @2
* Rewa/ ST
® Morena / qHT
® Annuppur / 3-JUYR
® Dewas/ m

Correct Answer :-Annuppur / 3FJUQR

20)
Question Stimulus :-

The Prime Minister must be a member of / WTTHAT & I [53) BT STITP gl
® Lok Sabha / SHHHHT
® Rajya Sabha / ITSOHHT
* Any House of the Parliament / HHG P fopedt oft g

® Any State Legislature / ot off wru faurHsa



Correct Answer :-Any House of the Parliament / 93¢ & fopdT Y e

21)
Question Stimulus :-

Which state government has recently accorded minority status to the Jain community? / fFa I WRPR A Wﬁ

# ST HYQTd B SeTHBIP BT ol 14T 82
Madhya Pradesh / H%QT

Tamilnadu / ?r&wm:f;

Uttarakhand / STIRTES

Gujarat / J[SIRTd
Correct Answer :-Gujarat / J[oIRTd
22)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 faseu gfQ
<t fRT T Sy vd Frepuf F R § 99 7

Statements: / ®Y-:

All hens are cocks / Wt gfifar it &
Some cocks are chicks / P9 H’ff i@f g
Conclusion: / fAesd:

I. No chick is hen / @13 Wi gon Wiff gt 3
II. Some hens are chicks / o gffai g &
® Only conclusion | follows / *ad frsed 1 fApaar %

® Only conclusion Il follows / *Had freed || FHeadr %
® Both conclusion l and Il foIIows/aT'ﬁ e 1 Gﬁ?' II foad %
® None of the conclusion | or Il foIIows/ﬁWGf I97II# ﬁ aﬁ% T'Iﬁ Freadar %
Correct Answer :-None of the conclusion | or Il follows / fpdIarIId @ ﬂﬁé qﬁ Froaar %

23)

Question Stimulus :-



Who is the author of ‘Wings of Fire’? / T 3T BRR’ & dE® DI %?
® Nandan Nilekeni / 5ig Hrerewuft
® Dr. A PJ Abdul Kalam / Slo T Ul S 3fsgal HaTd
® Khushwant Singh / GRIdd Rig
® Gurucharan Das / [¥TRUT QY

Correct Answer :-Dr. A P J Abdul Kalam / Sfo T @ & 3sgd@ Hemd

24)

Question Stimulus :-

Out of the four dams across river Chambal the first one was / I9d qﬁ & IRUR & IR Fitk A qgdl Ul
® Indira Sagar /?%?T LIRS
® Gandhi Sagar / TR R
® Jawahar Sagar / SldlgX IR

® Ranapratap / XTUITYATY

Correct Answer :-Indira Sagar / ${eRT IR

25)
Question Stimulus :-
CANCELLED

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁl‘q
St foT T HYAY vd fepul & v d 9 2

Statements: / ®YH:

All hens are cocks / gt gﬁf‘q’r’g’ﬂ’ %

Some cocks are chicks / 99 'ﬂﬁ ?JF} %
Conclusion: / fsw:

I. All photos are laminations / Hﬂ-ﬁﬁqﬁﬁ’cﬂ?
II. All laminations are photos / Ut Raad] aw iy %

* Only conclusion I follows / Fad f~rewt I fAPadr &



® Only conclusion Il foIIows/WﬁWﬂf n frreedr %

® Both conclusion | and I foIIows/Eﬂ:ﬁ frepd 1 Gﬁ? II fAoad %

® None of the conclusion | or Il foIIows/ﬁIW'Sf ITTIIH A aﬁ"&: :ré’f IGEISGI %
Correct Answer :-0Only conclusion | follows / Had fspd 1 Apadr %

26)
Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out. / 7% 4 ¥, $© U= &
e f3d ma 7, <t 9, Fad TP Bl SlsH, UM § JaiP TP e ¢ | favw ard «1 g |

e VT
e MQ
e PR
* FG
Correct Answer :-FG

27)
Question Stimulus :-

Jawahar Lal Nehru Award for International Understanding for 2015 has been given to /2015 ® GIT‘l?'foW

AT F oY wraTeRaTd A Srars A fond wrarer mam U
® Sultan Kabus Bin / {JxITq dqH fo=
® Wangari Mathai / COIE| mn%
® Angela Merkel/ ToIdT A% d
® Robert Mugabe / NE H‘Tlﬁ

Correct Answer :-Robert Mugabe / J1§¢ JITd

28)

Question Stimulus :-

Pointing to a man, a woman said, “His mother is the only daughter of my mother.” How is the woman related to the man? /

%ﬁanmﬂaﬁ 3R WHd BId Y, TP AAT BT, "S] Hi A8t 7Y B1 ghatal 1 21" 3R et A 4 Yaftra



® Mother / HIdT
® Daughter / G|
® Wife/ Tl

® Sister / dg-

Correct Answer :-Mother / HTdT

29)
Question Stimulus :-

Which is the imaginary place used in RK Narayan’s stories? / 3R & ARTAUI S HeI=al | S 91
PTeUf~Te ®ITH YN faar smar g2

* Malgudi / ATER[ST
* Nalguri / ATER[SL
® Malguri / 'FI'I?I'{R:T
® Nalgudi / mﬂﬂﬁ
Correct Answer :-Malgudi / HTES!

30)

Question Stimulus :-

Which of these states of India has only two districts? / g A YRd & frg g A $aa 33[ fora %‘.’
® West Bengal / ufyw s
e Sikkim / Rifdww
® Goa/al
e Uttar Pradesh / 3% USRI

Correct Answer :-Goa /Tl

31)
Question Stimulus :-

Which is the first monument from Rajasthan to appear on the list of UNESCO World Heritage sites? / XTSI

¥ 9% Ugd! WIR® S Ol 8, o ! fay Ry wa st g a 82



® Birla Planetarium / faR@T & AT

® Vijay Stambh / oo

® Taj Mahal / dIsl Hgd

® Jantar Mantar / 5/dx Hdx
Correct Answer :-Jantar Mantar / SidX Hdx
32)

Question Stimulus :-

If its cookie or coffee then you get mileage and speed. You get mileage but not speed then

either it neither was a cookie nor was it coffee. / 3R U fATpe a1 HIw! § df MUH! AISA 3R
TR T S §1 MUY wIgA T & afe i 78 a9 a1 oY 97 e T8 Ut 3R A1 & Hiwt oA

® True / Hﬁ

* False / Tdd

e Maybe / 8 9&dl 8

® Irrelevant / ST S
Correct Answer :-True / gl
33)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the nhumbers to form

meaningful word. / I & AT &R 9 A T T udF 3feR & Jwiferd forar mar g1 98
fawer g &t Tdfe Trsg ) w1 & ot Tt & U # 3ierl 1 IE) wH a1 B

ELBMAG

123456
e 2,1,6,3,54
e 3,1,6,4,5,2
* 4,56,3,1,2
* 6,54,3,21

Correct Answer :-6,5,4,3,2,1



34)
Question Stimulus :-

City Fruits orders Apples from Himachal Pradesh. The transportation cost of apples is
Rs.200 per kg and cost of storing them in a cold storage is Rs.100 per Kg. Right now there
are 100 Kgs of apples in the storage. City Fruits plans to place an order. / "ﬁ%ﬁm 3
RTee 3w @ A9 HraTe ¥1 9 Y yRaeT AN Ui fFet 200 FUT § R 3T Fies TR A T F
arTd wfa fFauma 100 =yt g1 3l Trgur & 100 fFaumm dg g1 "Ridt pea” e 3 @ 991 &
Suppose in the next month the price of apple is going to increase to Rs. 400 per kg. The
demands for the next 2 months are perceived to be 500 Kg each month. How much would
the store order given the storing and transportation costs? / HIF &ifSTe srTer wfge A9 &t FiHa
% 400 37T Ufa fe 9@ @1 gfS 9 o W B 3rTA 2 9fRA F e srgwifaa wit 500 fFaum yAS AE
gt df USRUr 3R uftas &1 arTd dWd §¢ gH ™ fha-T A1 Wramit?

* 400 Kg / 400 fopalt
500 Kg / 500 fopal
900 Kg / 900 el
1200 Kg / 1200fFe

Correct Answer :-900 Kg / 900 fpal

35)
Question Stimulus :-

What is the day on 23rd Feb 2076? / 23 BIa3l 2076 &I $I9 4T fa7 82
e Monday / THaR
* Tuesday / H@dAR
* Wednesday / §YdRR

e Sunday / Iqar

Correct Answer :-Sunday / IfdaR

36)
Question Stimulus :-

1. A,B,C,D,E,F and G are sitting around a circle and are facing the center. /A,B,C,D,E,F MG
TP gd & IS 33 € 3R Hg @) 3R g@ fru g¢ &1

2. G is second to the left of C, who is to the immediate left of F. / C & 9} 3R G WT%, S F
¥ 91l 3R epa a1g &



3. A is third to the left of E / E & 911l 3R A TIERT &

4. B is between D&E / B, D 3R E & §i9 8

If G and E interchange their position with A and F / gfe G 3R E B T8 BT A 3R F & Iy g¢d
fean e

* D is third to the right of G / G & gIfg-i 3k D dRT gh

° BisnexttoG/B,G%miﬁTlT

e C and F are on either side of E / E & gl a’¥®% C 3% F &I

e Cis second to the left of E / E & STl 3R C g&RT M
Correct Answer :-C and F are on either side of E / E & gIFl @¥W% C 3R F g1t
37)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu

g i sl AR R wsm FTu= e :
If he has gun, then he is Bond / 9fe 39% TR dg® &, ol 98 s @

e If he is not Bond, then he doesn’t has a gun / qﬁa?aﬁﬂﬁ%, al 9P U Wﬂﬁ%

* If he doesn’t have a gun, then he is not a Bond / af¢ 39& URT 3¢ 81 3, @l 98 s
TR
e If he is a Bond, then he has a gun / uﬁa-s'ai’—-s'%,a’rmwaw%
e None of the above / SWRIGd ®I5 gl
Correct Answer :-If he is not Bond, then he doesn’t has a gun / gfe 98 ai-s T8l %, a
I UTH agP 8l @
38)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe

ghesiab sl AR Rr s FTu= e :
If it is a cow, then it gives milk. / af¢ U8 T& T g, ot 48 gu <t 21

e If it doesn’t give milk, then it is not a cow. /ﬁﬂ%’ﬁﬂﬂﬁ%‘cﬁ%ﬂ’fﬂ'ﬁ'@mﬂﬁ%l



e If it gives milk, then it is a cow./dfe ag gy ¢dl &, 1 I8 TP M g
e Cow gives miIk./Tn'Crg'EIﬁ?ﬂ gl
¢ Ramu drinks milk. /TI'E['Q’Hﬂ’IT‘IT gl

Correct Answer :-If it doesn’t give milk, then it is not a cow. / afe ag gu =gt ¢t 8, @ us
TS Y 81 2

39)
Question Stimulus :-

In a row of boys, A is thirteenth from the left and D is seventeenth from the right. If in
this row A is eleventh from the right then what is the position of D from the left? /

ASH! Bl TP Ufad &, A 91¢ F aedi & 3R D e A Uagal o1 afe 39 ufea & A g @ wreai & @
91¢ ¥ D ST VI P AT 82

. Gth/GEIT

. 7“‘/7?’IT

e 10th 7 10

e 12th /127
Correct Answer :-7th / 7

40)

Question Stimulus :-

Following are the three positions of a cube. /ﬁ?ﬂqﬂ‘ﬁ o= fRufeai %



TOn RO

M m
JACK TOM
15t view 20d ey
RON
NEAL N
31 yview

What is the name in the face opposite to the face having name TOM? / TOM HTH > poe P fAudd o W F
v 82

® NEAL
* JIM
®* MEL
® NONE

Correct Answer :-NEAL

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

CANCELLED

How many kilograms of pure salt must be added to 20kg of 2% solution of salt and water is increase it to a 10% solution? /

20 T 99 & THS R U & 2% faae o fra frahmT Y 70 frard 7% 98 10% A 8 o
o 1kg/1fdHuT

o 13kg/ 13fBUT

5 5
o 1: kg/ 1° b
I 7
e 15kg/ 17

7 7
Correct Answer :-1%kg/ 15T



2)
Question Stimulus :-

In a certain coded language, 12448 is the code for SWEET and 943 is the code for BED. What does the figure 492311
represent in the code? / T3t W AT HTad HIWT H, sWeeT & ford BIS 12448 8 3T BeD & ford IS 943 B
PIs H TYWAT 492311 FIT ST 872

 EDSSWB
 EBWDSS
 TWBDDS
 DSWTEE

Correct Answer :-EBWDSS

3)
Question Stimulus :-

If FOOD is coded as DNOE and BEAR as ZDAS, how is CALM coded as? / df¢ FOOD &1 Tbd H DNOE U BEAR 1 ZDAS

forar Siran @ @ cauv 1 Tdha | FA e wiran 82
® ABLN
® ZALN
® AZLN
® ZNAL
Correct Answer :-AZLN
4)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination: / 1R & ¥ Y@@ eRl UE T@ATSH BT SIHH YA Bl 8| Tod JaIe Ugan-d|

(i) YZ1235YQ5
(ii) YZ1235YQ5
(iii) YZ1235YQ5

(iv) YZ1253YQ5



® iv
Correct Answer :-iv
5)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWAT FAHR 9TAT BT TR B :

7,9,13,21,

° 37

° 42

® 30

° 27
Correct Answer :-37
6)

Question Stimulus :-

A man takes 5 hrs 15 min in walking a certain place and riding back. He would have gained 2 hours by riding both ways. The

time he would take to walk both ways is/ U@ 3MTGH! &1 T A R a% ga- 3R a0 Jardt d oA § 5 69 15
forre @ €1 it 9% ST RE Wart A T oY SUP 2 € THd| SHI aR® Td B g3l 99 B TR S fha
Y T

® 3hr15min/ 3 9er15 fiAe

® 7hrs 15 min/ 7 ¥eT 15 fiFe

® 7hrs/7HC

® 3hrs/3°¢
Correct Answer :-7 hrs 15 min/ 7 9T 15 fiFe
7)

Question Stimulus :-



Complete the series choosing the missing letter/s: / ﬁﬁ'ﬁ SHER AP Preiical A aﬂﬁrq :

dc_ad_ba_c_a

® bcdb

® dcda

® dbda

® dbca
Correct Answer :-bcdb
8)

Question Stimulus :-

If LONAVLA is coded as NOLAAVL and GUJARAT as JUGATAR, how is HARYANA coded as? / uﬁ' LONAVLA aﬁ ﬂa?_d ﬁ

NOLAAVL Td GUJARAT BT JUGATAR oIl SITdT @ d HARYANA &1 THbd # $4 ferar &rar 22
© RYAHANA
e RAYHNAA
e RAHYANA
e RAYHANA
Correct Answer :-RAHYANA
9)

Question Stimulus :-

The value of 3x2-5x+3 when x=1is /Sldx =1 % @ 3x2-5x+3 FTHH élllll

e 3ab
Correct Answer :-1

10)

Question Stimulus :-



Complete the series choosing the missing number: / AW JBIT gAHT 4TaT Bl [T DI :
1/2,3/4,5/8,7/16,

* 9/32

® 9/20

° 9/24

* 9/36
Correct Answer :-9/32
11)

Question Stimulus :-

If the difference between the squares of two consecutive integers is 25, the two numbers are / 'Clﬁ' 3-']' HHNTd "IUThﬁ' %

T & 19 P1 3R 25 B, O 3§ T=aw @
® 9,10
* 10,11
° 11,12
* 12,13
Correct Answer :-12,13
12)

Question Stimulus :-

The probability that a student will receive grades A, B, C or D are 0.40, 0.35,0.15 and 0.10
respectively. What is the probability that a student will not receive ‘D’ grade? /0.40,
0.35,0.15 é'\'o 10 YHTEAT ¢ 7 v o &1 9oft T, i, <t a1 € waw: urw gl ammm%% BE
31 '3 TS UTe T g2

® 0.10
® 0.90
® 0.75
® 0.85

Correct Answer :-0.90

13)



Question Stimulus :-

If DOLPHIN is coded as EPMQIJO then MICROMETER is coded as / df¢ DOLPHIN &}
EPMQIJO ¥ $If3d frar wirar @ 9 MICROMETER &) T Hifsd far s

- NJDSQNDUDS
« NKDSPNDUDS
« NJDSPNDUDS
« NIDSPNFUFS

Correct Answer :-NJDSPNFUFS

14)
Question Stimulus :-

45 men can complete a work in 8 days. Six days after they started working, 15 more men joined them. How many days
will they take to complete the remaining work? / 45 3eHt U hIH Hrgfeaid RT B qoHd %'I 3P B BI
IE HE & 6 AT 91, 15 3R @RT ITH AT B T I FTH B T F1 W I8 fvaq A1 &1 9w
AR

e 1day/ 14
1 1
lida.ysfli GG
[ J
° 2days/2ﬁ7-l
1 1
Z;daysfli GG

a

lidavsfl
5 423

b | =

Correct Answer :-

15)
Question Stimulus :-
CANCELLED

The value of "C, exists if / "C, &1 # ai grm, afe

° N=r



® n<r
Correct Answer :-n=r
16)

Question Stimulus :-

What is the minimum number of lines required to construct the following diagram? / IEE]

3RG Bt [T B & ford gy & # fa-t J@msii $1 smazadmdr ghit?

° 4
Correct Answer :-6
17)

Question Stimulus :-

A train moves with a seed of 54 km/hr. Its speed in meters per second is/ Th a':l' 54 fHi/der ot fa F Iad %I ez
ufd Gs ¥ gAD! T gt

* 12
e 15

* 18



e 10
Correct Answer :-15

18)

Question Stimulus :-

12% -[e% +9-(5-3-2)]] 12% -[eé +19-(5-3-2)1]
simplify: =~ [/ a e

* None of these / FTH A @I gl
Correct Answer :-None of these / 70 9§ &I a1

19)
Question Stimulus :-

Rs.4800 is divided in the ratio 5:7.What is the value of the smaller amount? / 5:7 & STUTd
H ¥ 4800 &1 fyuifora far wiar 31 Bt YW &1 Jod &1 82

® 2800

® 2000

* 1800

® 1900
Correct Answer :-2000
20)

Question Stimulus :-

CANCELLED

Mohammed brought television set for Rs. 12000. Later sold it for Rs.10000. What is his loss percent? /
MewIg 12000 39 H 4t Ae amar arg & 10000 TUT F A7 fam| IHST FT JHA Ufawa 32

® 16.4%



® 15.4%
® 14.4%
® 13.4%

Correct Answer :-15.4%

21)

Question Stimulus :-

Anil’s expenditure is 60% of his income. If his expenditure increases by Rs. 2700 with 10% raise in his income, the percentage
goes up to 75%. What is his original income? / 3T Pt 3T FT 60% I %l gfe ITBT 3T 10% aaﬁ T 9P
=g § 2700 Fo F gi gl 8, @ UARIT 75% dF TaT SIal 81 TP Y& 3T FqT 82

® Rs. 13200
® Rs. 12000
® Rs. 9900
® Rs. 7200

Correct Answer :-Rs. 12000

22)
Question Stimulus :-

Three successive discount of 10% , 20% and 25% are equivalent to / 10% , 20% 3R 25%
diF SeRIeR ge wAged ¢

® 45%
® 48%
® 46%
® None of these/ sﬂﬁﬁﬂﬁ% :rE-pf

Correct Answer :-46%

23)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 79 28 T4 IR yal & ¥ 9 RA T va F Sl GuH F19 A1 T 781 82



First light County Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330

(i) First light County Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330

(ii) First light Country Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330

(iii) First light County Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330

(iv) First light County Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330



Correct Answer :-ii

24)

Question Stimulus :-

The population of a city is 3,40,000. If it increases at a constant rate by 5% per annum, what is the population after two

year?/ U% X[gX P FHIBAT 3,40,000 2 | Tfe T Ul a9 5% &1 HHM <X A T¢1 8, ot &) 9 a1e ST a1 gifl?
* 3,77,800
* 3,74,850
* 3,74,000
* 3,76,100
Correct Answer :-3,74,850
25)

Question Stimulus :-

The average of 1,2,3,4and 5is? / 1,2,3,4 3R 5 BT Gﬁﬂﬁ%?

Correct Answer :-3

26)
Question Stimulus :-

There are three alternatives for the following question. Find out the correct one. / RH Uy &

forg §i= e &) 9 arer g

i. 'Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ ?ﬂﬂ?ﬁﬁ? ‘Dogs are barking’
ii. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ PT HIAS 8 ‘Dogs and Horses’

iii. ‘"Mut Tom Mop’ means ‘Horses are mad’ / ‘Mut Tom Mop’ PT AdA9 8 ‘Horses are mad’



Which of the following encryption is used for ‘*Horses’? / faddasaar Q‘%ﬂi‘{ﬁ ‘Horses’ &
TART g3 82

® Tom
®* Jo
® Mut
® Mop
Correct Answer :-Mop

27)
Question Stimulus :-

(480/240)x(17/34) - {32x4)/8}=?

e -10
e -13
e -15
° .18

Correct Answer :--15

28)
Question Stimulus :-

In the foIIowing qyesti_on, one term in the number series is wrong. Find out the wrong
term. / A9 Uy ¥, = $R@@1 A TP U Ad 8| TAd US I BIoR|

2,15,41,80,134
® 15
® 80
°* 134
° 41
Correct Answer :-134

29)

Question Stimulus :-



Complete the following sequence of figures / 3Hfadl & 9 HU B T BifoRA:

oL, Lx -

ED

ED

Question Stimulus :-

Correct Answer :-

30)

Complete the series choosing the missing letter/s: / ﬁﬁlﬂ SHER gADY 4RGET B g1 aﬂﬁm :

par_p_qrq_par_r
® parr

® pqgr



® ppar

® parp

Correct Answer :-ppgr

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

(x+y+2) (x2+y2+zz—xy—yz—xz)=

® (x+y+z)3

b x3+y‘?’+z3

o x3+y3+z3—3xyz

i (x+y+z)3—x3—y3—z3

Correct Answer :-x3 +y3 +23 - 3xyz

2)
Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period
of 5 years. Answer the following questions using the information provided. / Frafafad e

# faa1-fe7 st fafies & 5 O ot 9@l 3t Fa anTa iR ! IoRa &1 yar gaar 81 Suas HIIS TS
SFSRL ST ITANT HR A9 Farel & same |

W Total costs A Sales Revenue

Rupees (1000s)

1991 1992 1993 1994 1995

Year

FW,WW



In which year there was no change in the sales revenue as compared to the previous year?

/ 5 ad # fast Tora ¥ fisd ad &1 gan & <15 ufkad= =8l fBar mar?
* 1991
* 1993
* 1994
* 1995
Correct Answer :-1994
3)

Question Stimulus :-

Bryophyllum is able to reproduce vegetatively by / Sifba¥ 9 & gR1 a9wfd & ©q |
gRedIed g H WaH

® Stem /Al

° Leaf/tﬁ'ﬁ

® Root/ VIS

® Buds present in the margin of the leaves / uf~al & ﬂﬁ? s | B'CI'@-R'T aﬂ%ﬂﬁ
Correct Answer :-Buds present in the margin of the leaves / UfxIdl & HIX H IufRUT Hferar
a)

Question Stimulus :-
If books bought at prices ranging from Rs. 300 to Rs. 450 are sold at prices ranging from Rs. 475 to Rs. 525, what is the
greatest possible profit that might be made in selling eight books? / TI'% 300 ¥ AT 400 *=qu Caen R Eﬂ?ﬂ T
J&EID| Bl 475 I ABY 525 YT $t PIAd TR 99T 1Y, df 8 T&ID| I da UR 3ifola farar s I+ aran
Tutfaa afftre ary «ar 82

® 1400

® 1800

® 2400

® 1600

Correct Answer :-1800

5)



Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period of 5 years. Answer the following

questions using the information provided. /ﬁ'{:lﬁl'@ﬁ % H ﬁ':l-%:l Ul ferffes & 5 9ra &t afy &t Pd
ARTT 3R faspt oG BT UaT gadr 81 ST HS T3 AFTHRI BT SUANT B (7 JaTal & waa < |

W Total costs A Sales Revenue

Rupees ('000s)

1991 1992 1993 1994 1995

Year

FW,WW

In which year did the company made highest profit as a percentage of total costs? /m I # $UA A Pd NTd &
afa=rd # 999 Afd ary HHMET UT?

® 1991
® 1992
® 1994
® 1995

Correct Answer :-1995

6)
Question Stimulus :-

The sequence of events in a water cycle is / T @ % A U &7 3HH &
® Evaporation, condensation, hibernation / dTt]+, ﬂ.'EF'F'l, Qﬂﬂﬁm
® Precipitation, condensation, transpiration /H'EfUT, W, 9@37'[
® Evaporation, condensation, precipitation / 4T+, g4, ayor

® Transpiration ,dehydration, condensation / yeeH, Fetdtewor, Sua+



Correct Answer :-Evaporation, condensation, precipitation / dTSI, g, ayur

7)
Question Stimulus :-

How do the forest officers recognize the presence of some animals in the forest? / G TUBRT a1 § P tl"\{ISﬁ L4
Sufufa &t g F4 #7d 32

e By their voice / STT®! AETH GRT

e By some signals and tools / $& T&d 3R IUBVN GRT

e By their droppings and footprints / 3% #d 3R Ug I gRT

e By calling them with mimic voice / T&dl 3TATH §RT 3¢ THRDR
Correct Answer :-By their droppings and footprints / 3% dd 3R ug g g1
8)

Question Stimulus :-

Any straight line drawn through the center to opposite points of the circle is called

./gﬂ%ﬁ;ﬂgﬁﬁaﬁaﬁﬁaﬁﬁiﬁm@?ﬁaﬁmmmﬁﬁw%%ﬁw&
Hgamt 8

Radius / B

Diameter / O

Chord / Sitar
® Segment / WUS
Correct Answer :-Diameter / T
9)
Question Stimulus :-

Factors that contribute to the development of cyclone / d FR® ST Ihad & e o TnTIT:IF'I' % -
® Wind speed / dIg 3 fa
® Wind direction / a1g &1 fa=m
® Temperature / ATUHTA

® All of the above / Iudad FHt



Correct Answer :-All of the above / SUda FH

10)
Question Stimulus :-

Products of neutralization reaction are always /ﬁ?ﬂ‘“ﬁ? &rf‘mm % Sl '\‘-'I%H 'éﬁ[ %
® an acid and a base /WW@TW&R
® an acid and a salt /WW@RWW
® asalt and water / Th <dUl 3R 5
® a salt and a base / wwaﬁ?w&m

Correct Answer :-a salt and water / T% @qUI 3R oI

11)
Question Stimulus :-

{am}is a sequence of integers where a; = 1, and aj,+n = am + an + mn, for all positive

integers m and n. Then the value of aj5 is / {am} wﬁﬁmw SIhH ? oel
Wt e QUifel m €d n & I a3 = 1, 6 amyn = am + an + mn| 99 a5 ST HAA
gl
° 120
° 121
° 118
e 119

Correct Answer :-120

12)
Question Stimulus :-

The area of a triangle ABC, right-angled at B, with AB=3 cm, BC=4 cm is ./ @I ABC &t fF BWR
HHSIUT §ATAT § TUT AB=3 9, BC=4 &} §, IqPT &% g1

e 12 cm2/ 12 ¥ 2
e 7cm?/7 a2

° 6cm2/6'\ﬁ'¥ﬁ2



e 10 cm?/10 It 2
Correct Answer :-6 cm? / 6 9H 2

13)
Question Stimulus :-

An almost pure form of carbon used in the manufacture of steel is / STITd & faferafor & s &1 DA ST
TIHT g U TN g 2

® coal /aﬁw

® charcoal /m

® coke /W

® both Band C /G B 3R C

Correct Answer :-coke / Bl

14)
Question Stimulus :-

If A = 30°, find sin 3A / Tf¢ A = 30°, sin 3A Jd 1|

* 12

2

e 0
Correct Answer :-1

15)
Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period
of 5 years. Answer the following questions using the information provided. / Fufefaa e

# faa1-fe7 st fifies & 5 Ora ot oEfy 3t Fa anTa iR ) IoRa &1 yar gaar 81 SUAS] HIIS TS
TFSRI BT STANT H 9 Faral & oamd ¢ |



W Total costs A Sales Revenue

Rupees ('000s)

1991 1992 1993 1994 1995

Year

Fd AT, &@H TaEd

The sales revenue in the year 1992 was Rs. 520,000. What was the prpfit percentage on
costs for year 1992? / a¥ 1992 ¥ f3®} I"a 520,000 U 4T @t ¥ 1992 H ANTT WR ATH
HT Y1?

® 2%

® 4%

® 6%

°* 8%
Correct Answer :-4%
16)

Question Stimulus :-

The green pigment in plants, responsible for the process of photosynthesis is / ey 7 3} quis o) f uT=r

Hxavor s yfrar & fag forier gid §
e Chloroplast / gRaea®
e Chlorophyll / Yufgf¥d
e Xanthophyll / uTdta
 Leucopene / T®IUT

Correct Answer :-Chlorophyll / Uuigf¥a

17)



Question Stimulus :-

CANCELLED

The length of the longest rod that can be placed in a room 30 m long, 24 m broad and 18 m high is /39

Idaq o o TS Sl 30 HIcT aH ), 20 iR A SR 18 IR A PN A T ST dAF @

® 30m

. 152

m
3042
m

® 60m

302

Correct Answer :- m

18)
Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period
of 5 years. Answer the following questions using the information provided. /

# faA- %mm%smﬁmﬁwmeﬁ?ﬁaﬁmmwmélmmﬁ
WFSR! BT STANT H 9 Faral & oamd ¢ |

W Total costs A Sales Revenue

Rupees ('000s)

1991 1992 1993 1994 1995

Year

FW,WW

In which of the followmga%qars did the company made lowest profit as a percentage of

total costs? / 5 a9 & & 9 ¥ 99 & SU 7 T AN & YlAd H GEGH FH ATH FHNRT?

® 1992



® 1993
® 1994
® 1995

Correct Answer :-1993

19)
Question Stimulus :-

A ray of light falls on a plane mirror and gets reflected along the same direction, what is the angle of incidence? /

TP WA gUUT W U 31 fvor AR 7 ok S+t famm & Swest orar usdt & af smua+ oior faaen &2
e 90

o 45

* 180

o ¢

Correct Answer :-90°

20)

Question Stimulus :

(256) * (27) * (29) * (43) =

Correct Answer :-1

21)
Question Stimulus :-

The source of sound used in medical & surgical diagnosis in hospitals is / 3reyaral o fafeen
w4 3oy fafrea e & afy & S &1 v forar wimar 2

e Infrasonic sound / 39YT af~



* Ultrasonic sound / URTHaT taf

* Audible sound / 459 af

* Supersonic sound / WRTta® taf
Correct Answer :-Ultrasonic sound / TRT9ST af
22)

Question Stimulus :-

Choose the INCORRECT statement with respect to an electric fuse et & WSl & A9y § Tad 9 BT
AT Y -

* Fuses are inserted in electric circuits of all buildings / T3} Ya-l & faerell & afbe o WISl STdT SITdT ?

® There is a maximum limit on the current which can safely flow through the electric circuits / ﬁ?ﬁfﬁ YRT BT

TF Sifman W 8, SfF Rfda Tu | ot F Tfbe & areaw A yar F It 3

® There is a minimum limit on the current which can safely flow through the electric circuits / ﬁ’s’ﬂﬂ YRT DY

TS Ay W1 7, P TRida v A oot & afdbe & arorm | vyae a3 aadl 8]

e In presence of an electric fuse in a circuit, it will blow off if the

current exceeds the safe limit / & af$e 4 fauedt & W #1 suf¥fa ¥, afs fagaa
oRT QR W | it gift ot 39 @R Se1 3l

Correct Answer :-There is a minimum limit on the current which can safely flow through the electric

circuits / FAgTd YRT B Tob gaw i 8, Sifes RFEE w0 A feeft & afbe F areaw I yag $ gt 7]

23)
Question Stimulus :-

Which one of the following is not a product of the forest? / F I # | P T T g BT IATE T8l 82
e Gum,rubber /g, ITS
e Spices,oils / 7HTd, a4
e Fodder,medicines / 93T, &dTC
e Kerosene,diesel / figt &1 a4, Soia

Correct Answer :-Kerosene,diesel / fiigt &1 d9, Siva

24)

Question Stimulus :-



Two forces of 12 N & 6 N act on an object. They both act in the same direction. The magnitude of the
resultant force is / TP %] U &I 96 12N Td 6N HRIGRI 3| g1 A 30 & Hrier g uRomdt aa &1
gfHTor §
® 12N
® 6N
e 18N
e 72N
Correct Answer :-18N
25)
Question Stimulus :-
CANCELLED

In a AABC, D and E are points on the sides AB and AC respectively, such that DE || BC. If
AD =7,AE = 8,DB = x - 4 and EC = 3x - 19, find x. / AABC # D 9 E %HRI: Y3l AB 9 AC
R 39 UPR fd 8 f& DE || BC. afd AD = 7, AE = 8, DB = x - 4 3R EC = 3x - 19 dl x I &I

Correct Answer :-11

26)

Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period of 5 years. Answer the following

questions using the information provided. /ﬁ'ﬁﬁl’@ﬂ U6 | ﬁ’[-f%q HU fofids & 5 9 $1 3@fy &1 Pd
ARTT 3R faspt oG T UaT gadr 81 ST HS T3 AFTHRI BT SUANT = (7 JaTal & waa & |



W Total costs A Sales Revenue

Rupees ('000s)

1991 1992 1993 1994 1995

Year

Fd AT, &@H TaEd

In which year did the sales revenues increase the most as compared to previous years’ sales revenue? / foa CLR: ] IEEd

Ioa | fiod aa & faw) wera ot gan | I99 ot 9f s g8 e
* 1991
* 1992
* 1993
* 1994
Correct Answer :-1992
27)

Question Stimulus :-

Sometimes People slip & fall when they try to walk on a wet floor because / &t F w1 @1 fidt B=f W
T B DR F3d g, 99 3 AR 919 &, |

® The friction between the floor & their feet is reduced / B=f Tqd 3% W & §I9 99 HH E?f IGI %
® The friction between the floor & their feet is increased / B Td I9F W & dF Y01 9¢ W &

e Of absence of friction altogether / T T T &g /UG giaT &

® Friction slows down our movement / 90T gHRY Tfd &1 AT B SaT &

Correct Answer :-The friction between the floor & their feet is reduced / B2 Td I7F W\ & i Tfor
Y gl oaT @

28)



Question Stimulus :-

Soil is formed by the breaking down of rocks by the action of wind water and climate. Name the process / 8dl,

U 3R WAw Ft st gRT IgTl & geqt | o1 o1 futr gar 81 39 ufthar &1 AW garsu|
® Soil profile / ga&T Ui feHT
® Weathering / &I
® Soil erosion / QT 3URG
e Soil formation / §aT f~HfUr

Correct Answer :-Weathering / STU&IUT

29)
Question Stimulus :-

The average age of three boys is 25 years and their ages are in the proportion 3 : 5 : 7. The age of the youngest boy is: / Gikl

TASHI P 3T 3Y 25 TY 3 T IAP! 3Y BT U 3:5:7 &1 G Bl ASP P 39 8:
® 9gyears / 9 ¥
® 15years / 15 4
® 18years / 18 94
* 8years / 8 T4
Correct Answer :-15years / 15 99

30)
Question Stimulus :-

Choose the statement that is wrong about Amoeba / 3#Ial & IR H Ted $YF BT TG99 PIoT|
® Have pseudopodia / UlqIH %
e Are multicellular / S§PHIRET g &
® Parasitic amoeba causes dysentery / R et W'Uﬁ DT HRUT ddT %
° Itcanbeseeninpondwater/%ﬁ?‘l’lﬁﬁ%qﬁﬁmmm%

Correct Answer :-Are multicellular / SEHIRIB Bid §



